
 

 
 
 
 
 
 

                   

Means: OUT OF ONE HUNDRED 
IN LATIN 

TASK 1: The shaded part of the three grids below represent 3 different 
percentages what do you think they could be?  

______% ______% ______% 

In this case we have to change the bottom number (denominator) of our fraction........ like the 
opposite of simplifying 

100
= 

100
= 

100
= 

100
= 

10
= ______% 

20
= 

100
= ______% 

______% 

When you have finished-check again. Have the answers 
ready for zoom at 10.20am!  


